


THERMAL CoNDUCTIVITY: Determines heat
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Two materials of equal dimensions

but different thermal conductivities
are placed side to side between 0°C T l00°C.
objects kept at 0°C and 100°C, and [k ke
a steady heat flow is established. If
k, <k,, we can say that the

temperature T in the middle is:

A) Equal to 50°C B) Greater than 50°C C) Less than 50°C

EXTRA: How would you calculate the temperature.
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Q1 - The pace of the course is: Page Optic

Way too slow

|
Too slow -
Way too fast l
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ConvecTioN :heat RADIATION: a |l objecls
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E LecTRoMmAacneTI I RADIATION:
L\ﬂ\ﬁ\ \S an elec"}(ow\o‘gv\e‘kc wave "

Oscillating electric field

E Oscillating magnetic field

James Clerk Maxwell 1864



Properties of Light

Colour: determined by wavelength

Intensity/brightness: determined by amplitude

L> l‘\g\zﬁ carries ehe\fﬂy.'
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?M( ce v The spectrum for a certain lightbulb is shown. The
wave "'QL total power of the bulb is closest to
(\,J/v\w\

A) 0.1IW  B)1W C) 10W
D) 100W  E) 1000W

Lloov\m : ‘;onm ! —+—
w a\lelevﬁ-Hﬂ (mw\



Which graph best represents
the spectrum of radiation from
the red hot ball in the picture?
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Blackbody spectrum
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